
Tuesday 9th February 2021 

L.O: I am getting better at interpreting pictograms with keys worth 2, 5 and 10. 

 

Today in maths we will be looking at interpreting pictograms with keys worth 2, 

5 or 10. 

This means we will be looking at what the pictogram tells us from the 

information provided. 

This is similar to the interpreting we have done before, however the key will be 

different for each question so you will have to be careful how you read the 

pictogram. 

 

 

 

 

There are 20 Blackbirds (4 x 5). 

There are 5 Robins (1 x 5). 

There are 15 Sparrows (3 x 5). 

There are 0 Thrushes (0 x 5). 

There are 10 Magpies (2 x 5). 

All together there are 50 birds (20 + 5 + 15 + 10). 

There are 10 more Sparrows than Robins. 
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